Sknklywup

Upwwlwpg  hpwyhbwlubph  twjuwpwpniejwu  hppbhwht b wbluuhlwlwu
wuyunwugnipjuu  hEnmwpuunipjuu Jupsnipjutu  gjuwynp dwutwgbun-hEnwpuuhsh
(bwdyughp' 21-2.3-166) pwnwpwghwlwl Swnwjnypjwu  dwdwuwlwynp  pwhnip
wwownup dwdybnmwiht w2fuwwnwupwiht ywjdwuwgpny gpwnbgubint hwdwp nhdnd Gu
utipluywgnty htiwnlyw| pwnwpwghtbpp’

T Snhwp Uwdybih Unujwt
2 Rbpnp Gpowuhyh SFunpgyuiu

dwdybunwihtu woluwnwupwiht wwydwuwghp § Yupyt| Ltipnp Gpowuhyh Sunpgjuup hbwn:

Upunwlwpg ppwyhbwlubph twhuwpwpnieju
wudtwlwqih yunwyjwpdwu

Jwpsnieynit



